WORKSHEET

       This is a human skeleton. There are 206 bones in the adult human skeleton. We are born with more bones but many fuse together as a child grows up. These bones support your body and allow you to move. There are three main parts – the head, the trunk, and the upper and lower limbs. These main parts are composed of smaller parts and bones. The head consists of a skull, the trunk consists of the spine and thorax and the limbs are based on bones and joints. The longest bone in our body is the thigh bone and the smallest bone is the stirrup bone inside the ear.

1) Match the main parts of the human skeleton with their names:
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                                                                                                       trunk

                                                                                                       head (skull)
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2) Answer the questions.

a) How many bones does the human skeleton consist of? _____________________________
b) Do we have more or fewer bones as a child? Why?

_______________________________________________________________________

c) What is the longest bone in our body? ______________________________________

d) Where is the smallest bone in our body located? _____________________________                                                        

3) Try to guess the words.

ONBE  = _______________                                 ADEH = __________________
LTOSEKEN =___________                                 MBILS = __________________
RNKTU = ______________                                DOBY = ___________________


